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(2,1), (5,2), (7,6), (9,12), (11,17)
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BURFIEHERR < 7

L. BEEHERE—ERRENEE (most fitted
model),

(1) #MEER (linear model):

f(x) = 1.8566x — 5.024

(2) —&xH=HEH (quadratic model):

g(z) = 0.1996x2 — 0.7281x + 1.3749
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M 1. fnfargesg?
[ 2 (g

2. RANTESWRETHM (sum of the
squared errors, SSE), IEERIHEEAMZR MM
HTE A E R

EE. & y=f(z) BERE

(SIZ‘]_,y]_), ($2,y2), Tt ($n,yn)
HURREA, RIRAIRERZF TR (SSE)

S E [f@r) —y1)? + [f (=2) — 9o

+ o 4 [f(@n) — yn)?

TREN, AP REZRY o IR 4 ER R
.

wE, RIRER, RIEEERIERZS

S = [f(2) - 112+ [f(5) — 2] + [f(7) — 6]°
+1£(9) —12]% + [F(11) —17]?
16.9959

&

2 PR R THREE



TR IMED (98EEE) Bt 48: ®ANFTEREDOH

HERIERIRIERZ A 5 A

S = [g(2) —1]° + [g(5) — 2]? + [¢(7) — 6]°
+[g(9) — 12]% + [g(11) — 17]?
~ 1.8968

R RSB R ER 2= 28 7 TN, U RSB

B 1. GLBIRE. HERS
(_370)7 (_171)7 (072)7 (273)
Al —(F A P E R AR AR B A B R E— (R PR R B

f(x) =ax+0

HEER SSE &/, Hif o 8 » BREENAANEE,
IREN, % o B2 b {5

S = [f(=3) - 02+ [f(-1) —1]?
+[£(0) =212 + [f(2) — 3]?
Bn/h. BEMETE F EEE, 6, TIMEHEREE

S = (=3a+b-0)24+(—a+b-1)?
+(b—2)?+ (2a+b—3)?
= 9a°+ b2 —6ab+a’+ b+ 1
—2ab—2b+2a+ b2+ 4 — 4b
+4a° + b2+ 9 + 4ab — 12a — 6b
14a° — 4ab+ 4b° — 10a — 12b + 14
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W, (1) TRERSEL, TEE B2
Sa 28a — 4b—10=0 (1)
S, = —4a+8b—12=0 (2)
B, ¥ (1) kL 2, B
56a — 8b — 20 = 0
B L (2) X8, &

520 — 32 =0
A IS
32 3
a = s
52 13

A (1) &, &

1 112 — 47
b= —(28 E—10): o> _ 47
4 13 26 26

Klt, 555 —FEEE A2
(8 47)
13’26
B AR, HNE—RBREXNBIEES
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(2) 7. RERE—EE—BEEAE, SRS
Bk Ale. B, ZHREREE

0
da
S = [ 4a+8b—12] =8
= —|—4q — —
bb ob

S.p = %[QSa —4b—10] = -4
e, FlBI=
d(a,b) = (28)(8) — (=4)° >0
B, HIERP 0, Rn{EHAEAEmRE. X
Saa(a,b) =28 >0
ME—HE, BEXPE 0, FrER LM,

A, AR, 8 LR AR 0, HER LM
HIRR, WE
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7, S Bm/ME, R, B/ IBRZEF R (SSE).

i, %ﬁﬂi@é’ﬂﬁ‘lﬁ%ﬂ%

47
flz) = T+ 2
m3, BA n HERE
(xla yl)) (SC‘Q, y2)7 sy (337% yn)
Rr, xBECERARIEIRE S
f(z) =ax+0
Hr

=1

1 n n
= (Su-aX
n\;=1 i=1

WA ERR S &/ INE iR (Least Squares
Regression Line, LSRL).
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%l 1.
AR ER:
i

1987

1988

1989

1990

R 1987 % 1995 FWNE/NEFTHILE v,

1991

9.91

10.19

10.48

10.83

11.18

1992

1993

1994

1995

Y
F
Y

11.46

11.74

12.06

12.35

AR—B/NFERER (LSRL), WfkEt 1998 FH7F
HI1E.

<fE> 4 t =0 HEZ] 1990 £, HIEFEE

(—3,9.91), (-2,10.19), (—1,10.48)
(0,10.83), (1,11.18), (2,11.46)
(3,11.74), (4,12.06), (5,12.35)

AL o B b BIRF, & LSRL

y = 0.31¢t + 10.83

Rit, 1998 FWTLE, J/HER t =8, B
y(8) = 0.31(8) + 10.83 = 13.31
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i H n EERE

(xla yl)) (5U27 y2)7 ey (xna yn)
Bl F B AT — R VR R A

f(x) = ar? + bx + ¢
Hrh a, b, # ¢ faE THIHER

n n n
ad af+bY aP+cd af
1=1 1=1 1=1

n
1=1
H
n n n n
aYy w+bYy @i tedy wi= ) wy
1=1 1=1 1=1 1=1
V954
n n n
aZazg—l—bei—l—cnz Zyz
1=1 1=1 1=1

MR SRR B A /N E )5 R — R (Least Squares
Regression Quadratic, LSRQ).
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